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(A + B + C): (t2000 + 4000 + 2000) T',o = 1E000 Fo.

62, crrr EF {frsild : r. qJfru,l qfrsad =.r 4t 35o/o - [r r g) = Z(-- too./ zo'

X = 420 t 7 x -- G2o x ze ), = 
(420 ! 20) - tzoo

Effi Efrsn{: t2oo.

x

5

I
63. tltn = 720 r'o s{ 35% = 

l.

OC. qHrffi*iqt =r. rS,

tr6.ei {q1 : xq; 120%o =

t'o : 252 To

Esfrd'wr =.r+r rsoz= (.r

120\x- |

to} )
150 \
100,/

(. 6x

5

3-x-2

^ 6.x 3x
3lqte sEcrd = T,' =t2x:t5x=4:5

65. qrll fsql =.r, dli@r:rTt lt}o/oTi 9V/o=
ll0 90 99trx-x-r00 t00 l0b

o''fr 99x = ' = ffi o7o:(
r x I xl00

100 x
o/o: lo/o.

,00 r00

erd: {T{risr l%Tcqrdt

4!
2 ..

24
r0, ,rrse x : 00 o/o =

e ,roolz= E*=rr1r^
2x24 ) 4



186

[9r, l rt00
5 5,r

%o = 7 6Yo.

72x 22lx 9x

-+-+-5 l0 2

qqtiE 3i6rIFK

4l0x
Fo= l0 {'o=zlly{o

67. cra giE E-s+ = 3x ncdl 6effi = 2r.

BIrqfr r fqf,i elaii d {ql = 3: tFT 80% + Lr 4I 7oo/o

: (r, *j9 * ,r,.19)= [I' 100 100 ,/ l.

lZx 7x

-+-55
\ rex
l5

3rs€ % =

68. qFIT qlqel q{ Tfd : 12, to, qgd q< sd = l7x to, fr6 q qd = 3.r5o'

go ffi :fii cr sd = OLr + 17x + 3r) tr'o = 32'x {o.

{.eIEk+ qKE'eI d = ( l2Jr t6'I l2oo/o+ l7x4t 130%+3-x;5I l50o/o) Fo

12r r l2o * 17, ^ 'J9 * r* EoJ o"
t
(-t l0

(144x+221x +45x)
Fo=

u{ t sk * : (* - rco)u' = ffv" = nf,v.

6e. q.rnri=i -** =+ry:'ft=*
24a4a

-=-- 
-=25b 15 b

(4 25\ 5t_x_ t=_
Irs 24) IE

- -a aql350%o
70. cHI Tq=I = -. i-$ TrIq = ':- =b b tF'l 500%

7a

106

350ax-
100

. 500hx_
100

7a 7 a l0
lob 19 D 19

71. q6 qfu6 s{rq = r Fo. ilq, trd =x tr'l 
" i'' =l ,x- 175 7x{o:7 do

2x100

' 7'=3500=x=l1o*8.. 8 7-=4000.
qrfufi 3{rq : 4000 E .

72. q5a gfaq = x ffr-fio. it'tl, .x s-T lLyo = 69.

L = 6s - , =( u, *Il tr*" = 575 f54o.100 \ 3/
73. qr{I flofro e;I IRFrIfi {g : x Fo. if'El,

x t6r e5% : 38380 - , , fi = 3E3E0 = , = (:slso ,. 1!9) = oonoo o"

74. Ts,t : soo, dsfuql": (2000 - 900) = I100.

sq er5fr"l f+ad = (900 :Ft 68%) + ( I 100 ;FI 62%)

l,roo ,. 
jl') * l., ,oo ,, 9) = gD + 682) = tze4\ loo.J ( loo/

rnfE{q, fqq - 5
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300ax_
t00

. 220

. t00

157

qt+€ %= (t"o ,rro]l.r, 647 -

\ 2000 , 
t=-o/o= 64'7Vo'

75. q6a 1af6 =:. rIt[ (,r i6t 20olo) + 30: (r tFI 3Z%)-42
. ( 32) / 20\,. (.,,#J-|.,,#J=rr. az+9r-] =zz=rs.*_sr)= r800=e3.x: r800+x=600

rfrlifi+ftq qn{qn..ri6 = (r*,1#) +30= r50.

qse%- (lA,'*)*:zrr..
76, (l E0 cFI 307o) + ( 150 tFI x%o) = (180 + 150) ril 50%

+ [,a0,ffi).(,'r-i*)=(#.,,0)*,0*] =,u,

:+ f =t,ur-roy: nr =+.r= "'{' =ro.
rqlfu. o/o -- 7 4yo.

77. \t7I qFro'rq ds, = r. it-6t -r S.I 360lo=ll3+85.

.. rx _19 =re8=,=[,rr,f;)=rro.

T#o= sso.

7g. q-1 qrfiq nr< = i ild a t6'l 3oo% 
- 

1 3
b b412200/.

3a-4a(. _x) =_=_=l" ib n b l.

nqrRF{+-fkr=;
l)

79. Cr,II giT1 tll =.x to. iI{,

4

il

4il
-x-I r 15

4

I5

(; i5l 40%) + (r Sl 25o/o) + (x 6t l5Zo) + (.x :F,t syo) + 52200 = x

).( ).( J.I
40 25

100 100

5
+ 52200 : t

l5
100 r00

: i-i- itr-16 +52200=x+ 4or+25x+ I5r+ 5r+5220000= 100*

g6, q111 ysfu6 q=r = r00 To. *o r* =; 
I5'r = 5220000 =r r = 348000.to'

z5 ro c{ ilfu = 2s Fo + t00 ro vr qfe : (?2 - roo)u, = n!*
91. q61vr1ft16 q@ = 100 Fo. c6,r Esil {€c = 160 r.o.

160 ro qr qfr = 60 Fo + I 00 Fo y( t'{ = (#, rco)r" = lN = n )r,
12. qs€ o'n * = {#,,,*}* = {*ih, r oo}"2 = [I,,oo)r" = ffr" = n]u,

',. 
s{rrte 6n ,* = i#a. ,r.}* = (;, ,or)n: ro*
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84. qfi€ Eiaz:
E5. qr.Il Erf,-tF-{ : 100 €o gid {6'ri dql uttrt - 100 Ei6.ri

qfd qe q< e-d: (100 x 100) to : 10000 {o.

{qr iF{ : t20 Eo sfr {fir{, ri sq-o = so E6r{.

31EI qd q( Erd = ( 120 x E0) Fo : 9600 Fo.

E-d i 4,m =(loooo-9600)Fo:4ooFo'

qd t 6fl * = (,fffi , too)v" = a"2".

86. q1-1r rIREq li ta-r = l0O to.
(,n0, to , t'o) =rro.I 100 roo/

rz. srrfrq *= {ffi,,'*}* = (3,. too)v" =!" ='u!',

es. orse * : {#. ,. ,*}* = (:: ' ,oo)* = "} *
eg. qr{I T6& qr{d 16l rflq = r {o Yfr f*qo'

srq, qr6rn 6r ,lt: (r'#) o. rft f*'qlo : f r",to,n''

385 _3E5 _7 _ 385x5_3E5-7 ) $ZS - 1540: t4r + l4r=385 +x=27.50
x24xr2

so. qrll qrd -id q,I {s = loo to, ridf +1 fq+1 = 100 rid

rc-& +rr xFqI: (t00 " 100) no = 10000 Eo'

slq ri€ q.r {s = 80 to, rid qlffi = 140 riA' '

qs'3ffi tlr vIFa = (80 x 140) Eo = I1200 Fo'

w xfl< d Eru * = [#,.,oo)r.= rrr.-

9t. rtFil q{frr x F. t sfrd,r{. a-e

t-#)'=87480=,, 1 ,4"2 =szleo

87480 x.19,19, f;) = ,roooo.

qqft1 12gss6r'o dsfi-0T{

92. 2 q{ qK qifr{ qI {s = 100000 x
l0l--
r00I]"" (rooooo,. fi,. fi)o. = ttooo o"

ls. wtr z a{ $ Es-+i fu r tdo d.

.. xx('.#l=ro8+-xx9xf ='o**,=(

era: 2 ed ad tid 6i:fu = 75 *do'

R x 100
(100-n)

*=(-!,,00)*=$*="j*

Tqr +f,r = ( 100 {o z6-t 50% tFI 1507o) =

E-tB Yo = 25o/o.

,rI
,: I

108 x ?1
36

= 75
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e4. 2 sd EE vniq, : 
{r*0, 

(, .,*)'} = 1'* ;#, *): r05E0.

cs. z sd srs ,-iqr = 
{,'*0,.[, 

. #), (, . #)] = [,'*, jj, f ) = rrruo

9d. rrnr: a{ $ w{er =x. a-<,

I = 185220=+:x +-!,!=185220=+ ,=(6szro,?9,. zo, zo'1) 20 zo 20 --('"'*"^i^zr^21) = 160000

. . : q{ fd w*iqr = tdoooo.

e7. qrir , q{ d ftfr'} qg W sqn r}i. a-q,

2916oo x [,*-.!9t" /
t looJ =slz+oo'I t-lo

100

2st6oo x (lf)' = 
"rnoo "

ft I \" /r l\3
l.;.j =l;] =+n =3'

qr::qdsRfi*awutr'venfri.

,t. 
"*u4 

6 y*o gw ::. ri <,f ol r*+ gw =

,, "- u4 u1 y*+ WT = .r. re, +dsa = I

c-6a q,f 6r stdt'd:12. q$ e,t 6r +{Fn = (HI= i#,,
+drF-d { cfe = ( 

t69 
rz -,2\ - eg'2

\100 ) t00

( ost' r ')

crrs-f, q qi %= |.,* 
- p, too 

)o/o 
= 6e/o.

f2Y = fll'1". flgY - 532400 - r33r

\r0/ \tol \e/ 2et6m 72e

n

t
130

JX-
100

\ l3.x

)ro

d dqri=

tri e{rqa ql d-dwe :

=#,nt',: (,,,i#)
(lx l3.r\ 9rr2t-x- t=_Is to) 50

140rx-
r00

l3.r

t0

ctds-d { Efd = x 100 o/o = t2o/o.

lfl). qla 3rFd +1 vEqr{ : , nqr ffi = y rc, t}rre =.ry

d Eqr{ : (,,i#) =+, aE ffi : [,,#)= +
.6x4v24rFII qI*6FI: 

S 
r;= 

25ry

stdsc { 6* = (, - * r) =fr * +*,'e r ++ r. = (* " * - r*) r. = or..

1i1. qs1 6q( =.r <cn frr$ =r. a-c, ttrre =l],.

r{Erqr$ :tEit t6oo/o= (,,i#)=?

-_r

4lx2 I_x..:
50 ,2

gr*2

')=g= +*rotzte z.= 
[50
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q<i{q sifirrFR

fudq.fix:
1g2. qnrq6tTaEiti-ql=

ri fr-qr = l* ,. l9) =' \ l0o/

,,ri)=;r= a-"etm:.(i ?)=+
lI' 1,,ool"r" = T,r. -- rr rro.18 y ) 2

R - T{ q-I **rne : rR2.

4#=

* ** *-= ,[;)

8-rtr-d d qqi =
. ,tR?

rrR. ___- _ 1nR2 * ctq.-(qq.fr %=
4

[3n't2, l.,,oo]or"-- 
rrr".

f4 ".Rz )

2 
nR2

4

4

toJ. qin q-64 {n d hqt = loo. qet qr t*en = tut'
qrd Tt +r stsE:1 x (100)2. <i T< E.r fr*qe: ,t x (l0l)2'

*-dtF-d t qE: {r " (l0l)2 - zr ' (roo)2} =,r x {(l0l)2 - (loo)2} = (r ' 201 ' l)

et{s'd i sk *= l'^'o'-, too} v"= z otv".
Ln*(toor J

tol. qr+ rei ri-d d fi-qr = 100. rd, Y€ iFI t*ne = ar ' (100)2

T{ fr-q, = tso. d 1e o,r tr*q-e = +n * (150)2.

YE + t-*wo d qk = (4r " (ls0)2 4r' (100)2) = 4n' ((lso)2 - (too1z1 = 1+r x 2s0 x 50)

get Qaw-etgk tz"- o/o: l75o/o.

lOS. rsqrl 5e* *-xro +r <wnr-+ qI-{ = 4r x (10)2 = 400'E, s{rrrfl{ E,l {i@qlirF6 w< = Jt ' tlO;3

107. eqqd = Z:00, 80

r00

4nx250x50 r,rO
4n x 100 x 100

= 6000

( qoout . )
eilfre cfdttildr = [ffi 

x too 
)Yo= 

3oo/o.

106. EFil giE rt( = .r. il-4, (x sT 60%) - (; fl 4090 = t 5000'

[,' #) t"r*39)=r:ooo= + + =15000+'r= 75000

ffi q16 sqt€T{ ql fird qa = 
frrooo, ,*Ig) 

=,rsooo.

({rt sEfl-€R d E-€ q( = 6000 .r1 45% = 6000 , 45

r00
:2700

to8. qI1I tq ril : .x. aEI, (r zFI 52olo) - (x tE'T 48vo): 98

4 --
xqi1 4o/o=98+r, 

-=9E- 
x= e8 x.!!9

4
: (9t x 25) = Z4so

Sfl ciii 61 {@T = (24s0 + 6E) = 2518

lo9. fd rra s)f, d Er+ +1 qr* =
5

-x6100
q]-c{ Htst.

1

l0

qrqq,lqt,qE s eflzrqtodar* : fr a..
I

rq6 6r % =.[]01, 1 
^ 

roo) x = ox.
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I00

eta =q frcr
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tro. g Frd d-cr d{H t Gr6t6f, = s,jq
100

froffio = rt.J frofro

q,-,g6y;11lqrf,tffi:y fr"fro.
4.5

S;, tOO= 30 + 30(9 +r)=450 + 9+x= 15 +x:6
gltlr qri qrFI cri = 6 fto1fio.

qr* srdr qri qrflr cFfr = x lfrer. Ts

,!o^.'l , too= zo=itll =l =>zo+ 5r -- 40 +r:+ 4.r=20 =.r= 5.(40+.x) 40+x 5 '--
criEl sTfie crfl = 5 fre(

u2. ki TE frryqd 3rct6-d = [r, #) ot< = z et<, crfr : I dts(.

aq frryq t irffitff,:2 f,tc{. crfr:4 fr&.
(z \ re;6I6f, E] q;ar o/o: 
l: 

x 100,J% = 33_ %.

ll3. 100 i+qto dri qeil t rtq Fr+s = (t00 - 68) t6'q.Io = 32 fq-fio.
q-11 1gg fq.qto nri +-cit t xw @ 6q =1fulto.

r f+qr" qd.n'f, t crq Fr+s = x lsno +,1 80yo = (, " #)= * *"
. 4x 5x32

5 = st= x=__i_ _ 40.F6.ITo.

'. qd v.a ql qp4 :46 fq-qro.

f 14. rIrjII dl"ll iliTil' frI m = I f6-q1o.

vsiqrdqlcrn= (,,#)rs'n" = + turno, Fr+s= (,-+) f,Fqr" =; r6n"

250 Frrno qd 3itn'd crfi 61 wn - [zso. ]\. loo
Vsq'fi-+s: (250 - 25) f6nro :225frmo.

.x
; = 225 = x=(225 x 5)= tt25.

.. i nIT 3rgt^ i6.l m = 1125 t+-no.

fqfi6 = 25 fuqro


